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N & 0l & Av S Z M A
20148 = 2 3 TALNSAMEEESAH &
SN DEHIY
HH: H5ws M 2 (3L WES/HSWE - ERSIIE)
ce: WEALE 2e(TARSMHSSEIH) (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-T HI RS2
nsdH 2,053,183 1,989,050 64,133
W8 ¢d &#2(+85LnS/HERS - 7 SIIE) 820,116 770,116 50,000
WEAY Ze(ZTANSALSESAH) 820,116 770,116 50,000
SSEXDA ZAEL 50,000 0 50,000
207 A RO 50,000 0 50,000
01 A3l 50,000 0 50,000
WI3AIDX ZAEH 50,000,000& =14l 50,000 0 50,000
NEHY XNz (38X nS/HERS - 2R SIIE 1,163,355 1,165,333 8,022
WEEM XNE HH(TARSMEEESH) 752,877 738,755 14,122
ns sH € AE 92,458 91,528 930
101 Q124 H] 44,938 44,008 930
04 JIZHHZ22XNSE+ 44,938 44,008 930
m=FXNHERA 23,338 22,408 930
=) 42,920 x1H «2502 10,730 10,268 462
Oo1g==e 10,730,000 *4/12%50% 1,789 1,712 7
OAA2 RS 88,0473 +1H «35A1 2«12 3,380 3,234 146
O=rs5d+2 42,9203 x 1«53 2,275 2,177 98
0= &l 60,000 x1H » 128 720 600 120
LA E &fHI 42,0203 18«15 644 617 27
FEX /g A& &5 236,372 223,180 13,192
201 LEr2A | 201,852 199,660 2,192
01 At 22l bl 81,452 79,260 2,192
mEy=ZI B2 MA 14,192,000& * 14! 14,192 12,000 2,192
405 TtokH S| 11,000 0 11,000
01 AL ESFH S 11,000 0 11,000
mEES S 11,000,000 = 1CH 11,000 0 11,000
TExt & A8IH2d(SALSMHSSEESH) 196, 152 202,252 26,100
fEE ¥ EXXE 2al 60,200 66,300 26,100
201 L4l 39,920 46,020 A 6,100
01 AtR2t2lHl 23,140 28,540 5,400
misSxtae 22 9,000,000 13| 9,000 12,000 A 3,000
mEAMNE FM4ZZ2OH FAES 0& 0 2,400 A2,400
02 =224l 16,780 17,480 A700
wWXESH NSIAN, EE8=2 6,300 7,000 A700
OXNsSXA & 282 700,000& =13l 700 1,400 A700
HY2LZH (WSHF D) (IIEHIIE) 69,712 63,601 6,111
QHAZLH(ZARNSAME)(EARNSASESESA) 69,712 63,601 6,111




2N nEHAHY
M HNH2HAH (nSHE D) (IIEH/IIE)
TR QHESHH(ZALSAY)(STANSALSESIAH) (S HA)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hns2
QI 2AHI (T A NEAY) 69,712 63,601 6,111
101 2124 d| 69,712 63,601 6,111
03 I HLZ2Z HE 69,712 63,601 6,111
|23 U2 (NSEM &)
1,435,000 «2H «12& 34,440 29,270 5,170
P ==y 34,440,000 *4/12 11,480 9,757 1,723
WA 2 R2Y
10,558& *1.5x20 Al 2 x2H x 128 7,602 10,138 N2,536
(w] = 2| 100,000& *2H 122 2,400 1,200 1,200
WYESIH(EY ,=4) 500,000& *2H 23] 2,000 1,600 400
(w] A I 2 A 10,5583 *BAl 2t*2F 10 1,690 1,536 154
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N = 0 &8 AFH Y & A AN
204 =8 2 3 =220 IIZ2ELEIH &AM
2AM: M=KD
HH: HASE N (MISX/IIZNELR)
SR MHASS Az X (A=230I2SLAH) (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
A3l = X 3,266,200 3,693,651 A427 451
2 324,826 397,600 AT2,774
= 40,603 49,700 29,097
Al 2,900,771 3,246,351 A 345,580
NASE N (MIER/INZHESE) 2,979,549 3,407,000 A427 451
2 324,826 397,600 AT2,774
< 40,603 49,700 29,097
Al 2,614,120 2,959,700 A 345,580
HASZE oz (da20II2sg3H) 2,979,549 3,407,000 A427 451
2 324,826 397,600 AT2, 774
[=4 40,603 49,700 29,097
Al 2,614,120 2,959,700 A 345,580
NASEZ= o2y XL 406,032 497,000 A90,968
=2 324,826 397,600 AT2, 774
[=4 40,603 49,700 29,097
Al 40,603 49,700 29,097
301 Yt A2 317,272 408, 240 A90,968
=2 253,818 326,592 AT2,774
[= 31,727 40,824 29,097
Al 31,727 40,824 29,097
01 AlEIE & E 5 2 317,272 408, 240 A90,968
=022 H 1,384,5009 * 120 & *1 16,614 30,000 A 13,386
=2 13,292 24,000 A 10,708
(= 1,661 3,000 A1,339
Al 1,661 3,000 A1,339
WS T S0 112,000, 0002 * 1Al 112,000 158,000 A46,000
=2 89,600 126,400 36,800
< 11,200 15,800 A 4,600
Al 11,200 15,800 A 4,600
WAHAMES ST H ZHH 131,418,0002 * 14l 131,418 163,000 A31,582
=2 105, 134 130,400 N25,266
[~ 13,142 16,300 A3,158
Al 13,142 16,300 A3,158
NAES XY Adl=2Y 2,573,517 2,910,000 A336,483
308 X XISHH SOl A 2,573,517 2,910,000 336,483
05 KX S A2t e 2 2,573,517 2,910,000 336,483
mHdASE &EH AlHEE2
2,573,517,0002 14! 2,573,517 2,910,000 336,483
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SRl BHEFAXT TAHLAE [ ) (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
HeE = 5,122,900 1,100,000 4,022,900
SANYE SH(2ELXNIMNLE/NSLEZ A 5,122,900 1,100,000 4,022,900
EBHEEEX T SANLAS (LIRS AIN LAY 5,122,900 1,100,000 4,022,900

SH3A)

BHEEX 2 SAINEAS 5,122,900 1,100,000 4,022,900
401 A& HIZ 201 Y] 5,122,900 1,100,000 ,022,900
01 A& HI 5,078,000 1,100,000 ,978,000
mOHE S 2= =AM 500,000, 000& » 14! 500,000 0 500,000
mEAH(NEE S) 2,278,000,000& =14 2,278,000 0 ,278,000
mEXEd & S0HSA 1,000,000,000& 14! 1,000,000 0 ,000,000
WRAEE HEEY 200,000,000& =14 200,000 0 200,000
02 Zeltl 38,600 0 38,600

WHHEFEX P SAHEAY dHHY2Ae S
16,600,000 * 14! 16,600 0 16,600

WHEZEFEX T SANLAY 222548 W&
SAL AISZelES 22,000,000& =14 22,000 0 22,000
03 AlE 2 THHI 6,300 0 6,300
WHHEEEX T TAIHNZAS 6,300,000 *14] 6,300 0 6,300




